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>�4 

&5DD<F>D<4?L=>5 >>DG65=<5 ?D>5>F<DG5<>= ??>M44><:  

% E565D=>= EF>D>=O GG4EF>> 7D4=<G<F E 5?47>GEFD>5==>= F5DD<F>D<5=, ?D<-

<O>4NM5= > =4475<=><G ?5L5E>4=><G ?5D5E>4G G5D57 ?D>E?5>F %6>5>4=O=, E 

N6=>= EF>D>=O - 6<?O< 4><>< ?> G?. �45DG4>4, 31, E 74?44=>= EF>D>=O- 

GG4EF>4<< G4EF=>7> E5>F>D4, E 6>EF>G=>= EF>D>=O 3 G?.�45DG4>4. 

 

�. �5>E=>64=<5 7D4=<F E4=<F4D=>-74M<F=OE 7>= >5N5>F>6 >4?<F4?L=>7> 

EFD><F5?LEF64 6 ?D545?4E 7D4=<F 75<5?L=>7> GG4EF>4 - 6 E?GG45 

=5>5E>4<<>EF< >?D545?5=<O G>474==OE 7>= 6 E>>F65FEF6<< E 

74>>=>44F5?LEF6>< $>EE<=E>>= $545D4F<<; 

 

%>7?4E=> %4=�<= 2.2.1/2.1.1.1200-03 ?D>5>F<DG5<O= >5N5>F (6<?>= 4><) =5 

>F=>E<FEO > >5N5>F4<, ?>4?564M<< E4=<F4D=>= >?4EE<D<>4F<< < E4=<F4D=> - 

74M<F=4O 7>=4 4?O =57> =5 GEF4=46?<645FEO. �D>5>F<DG5<O= 6<?>= >><??5>E =5 

O6?O5FEO <EF>G=<>>< 6>745=EF6<O =4 74>D>6L5 < ED54G >5<F4=<O G5?>65>4. 

�5<5?L=O= GG4EF>> D4E?>?>65= 6=5 7>= >ED4=O, 74M<F=OE 7>= >5N5>F>6 

>G?LFGD=>7> =4E?54<O < 6=5 E4=<F4D=>-74M<F=OE 7>= ?D54?D<OF<=, ?D><7-

6>4EF6 < <=OE >5N5>F>6. 
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�D>5>F<DG5<O= 75<5?L=O= GG4EF>> D4E?>?>65= 6 7D4=<F5 6F>D>7> < FD5FL57> 

?>OE4 E4=<F4D=>= >ED4=O ?>65DE=>EF=>7> 6>4>745>D4 =4 D. �=<E5= D<?<4?4 

«�D4E=>ODE>4O &-&-2» �� «�=<E5=E>4O &�� (&��-13). � F5?OE E>5?N45=<O 

FD55>64=<= �>4=>7> >>45>E4 $$ < %4=�<� 2.1.4.1110-02 ?D>5>F>< ?D54GE<>F-

D5=> 6O?>?=5=<5 <5D>?D<OF<= ?> E4=<F4D=><G 5?47>GEFD>=EF6G F5DD<F>D<< 

GG4EF>4, ?D54>EF46?5==>7> 4?O ?D>5>F<D>64=<O. �5D>?D<OF<O ?> 6F>D><G < 

FD5FL5<G ?>OEG �%�, E>7?4E=> ?.3.2.2 %4=�<� 2.1.4.1110-02: 

1. �OO6?5=<5 >5N5>F>6, 747DO7=ONM<E <EF>G=<>< 6>4>E=4565=<O, E 

D47D45>F>>= >>=>D5F=OE 6>4>>ED4==OE <5D>?D<OF<=, >55E?5G5==OE 

<EF>G=<>4<< D<=4=E<D>64=<O, ?>4DO4=O<< >D74=<74F<O<< < 

E>7?4E>64==OE E F5=FD>< 7>EG44DEF65==>7> E4=<F4D=>- 

M?<45<<>?>7<G5E>>7> =447>D4 

�EF>G=<>4<< =574F<6=>7> 6>745=EF6<O 4?O ?D>5>F<DG5<>7> >5N5>F4 

O6?ONFEO: 

- 46F>FD4=E?>DF, >EGM5EF6?ONM<= 6N574 6 ?4D>>6>G; 

- ?4D>>6>G=O5 <5EF4, D4E?>?>65==O5 =4 F5DD<F>D<< 75<5?L=>7> GG4EF>4. 

$47D45>F4=O E?54GNM<5 6>4>>ED4==O5 <5D>?D<OF<O: 

- 5?47>GEFD>=EF6> E F65D4O< ?>>DOF<5< ?D>574>6, FD>FG4D>6 E GEF4=>6>>= 

5>DF>6>7> >4<=O; 

- <E>?NG5=<5 46<65=<O < EF>O=>< FD4=E?>DF=OE ED54EF6, 74 <E>?NG5=<5< 

<E 46<65=<O ?> ?D>5744< < EF>O=>< 6 E?5F<4?L=> >5>DG4>64==OE <5EF4E; 

- >F6>4 ?>65DE=>EF=OE 6>4 >D74=<7>64= ?> E??4=<D>64==>= F5DD<F>D<< =4 

?D>5>F<DG5<O5 ?D>574O, =4 4>D>7G <5EF=>7> 7=4G5=<O G?.�45DG4>4. �4 4>D>75, 

6> <E?>?=5=<5 FD55>64=<= �>4=>7> >>45>E4 $$, 4>?6=4 5OFL ?D54GE<>FD5=4 

?<6=564O >4=4?<74F<O. �4==>5 D5L5=<5 ?D54>F6D4M45F ?>EFG??5=<5 ?>65DE-

=>EF=OE EF>>>6 6 6>4=O= >5N5>F; 

- >F6>4 E>7O=EF65==>-5OF>6OE EF>>>6 ?D54GE<>FD5= >4=4?<74F<>==>= 

E5FLN E <E?>?L7>64=<5< 75D<5F<G=OE FDG5>?D>6>4>6 6 EGM5EF6GNMGN 

>4=4?<74F<>==GN E5FL 6 E>>F65FEF6<< E F5E=<G5E><<< GE?>6<O<<; 
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- 65DF<>4?L=4O ??4=<D>6>4 4>D>6=OE ?>>DOF<= <E>?NG45F ?>?444=<5 

747DO7=U==OE F4?OE < ?<6=56OE 6>4 E GG4EF>4 6 ?>G6G; 

- >D74=<74F<O D57G?OD=>= G5>D>< F5DD<F>D<<, ?D>6545=<5 E6>56D5<5==>7> 

D5<>=F4 4>D>6=OE ?>>DOF<=; 

- >D74=<74F<O G5>D>< < GF<?<74F<< E=574; 

�4 ?5D<>4 EFD><F5?LEF64 ?D54GE<4FD<64NFEO E?54GNM<5 <5D>?D<OF<O ?> 

?D54>F6D4M5=<N < <E>?NG5=<N 747DO7=5=<O ?>65DE=>EF=OE < ?>475<=OE 

6>4: 

- ?D54GE<>FD5=> F65D4>5 ?>>DOF<5 6D5<5==OE ?D>574>6 < EF>O=>< 

EFD><F5?L=>= F5E=<><; 

- 6>4>>F6>4 ?>65DE=>EF=OE 6>4 >55E?5G<645FEO >5M5= >D74=<74F<5= D5?L5D4 

6 E5FL ?<6=56>= >4=4?<74F<<; 

 - =4>>??5=<5 E>7O=EF65==>-5OF>6OE EF>>>6 6 6>4>=5?D>=<F45<>= 5<>>EF< 

<>5<?L=>= FG4?5F=>= >45<=O, E5>D < 6O6>7 =4 7>D>4E><5 >G<EF=O5 

E>>DG65=<O; 

- E>?44<D>64=<5 >FE>4>6 6 <5F4??<G5E><E >>=F5==5D4E, GEF4=>6?5==OE =4 

??>M44>5 E F65D4O< ?>>DOF<5<; 

- 74?D46>4 F5E=<>< F>??<6>< ?D><76>4<FEO F>??<6>74?D46M<>><, 

E=4565==O< =4?<6=O<< L?4=74<< E> E?5F<4?L=O<< =4>>=5G=<>4<<, 

<E>?NG4NM<<< GF5G>G �%�;  

- 74?D46>4 < <56E<5==O= >FEF>= 4>D>6=>-EFD><F5?L=>= F5E=<>< ?D><76>-

4<FEO =4 ??>M44>5 E F65D4O< ?>>DOF<5<; 

- =54>?GM5=<5 74E>D5=<O F5DD<F>D<< GG4EF>4 D45>F <GE>D><; 

- ?D<EO?>4 >?<?>4<< <?< ?5E>>< 4?O 44E>D5<D>64=<O E?GG4==> ?>?46L<E =4 

7DG=F =5DF5?D>4G>F>6, E5>D < 6O6>7 <E =4 ?>?<7>= &��; 

- 74?D5M5=<5 D45>FO =4 =5<E?D46=>= F5E=<>5, <<5NM5= GF5G>< F>??<64 < 

<4E5?; 

- >5E?G6<64=<5 < D5<>=F EFD><F5?L=>= F5E=<>< < 46F>FD4=E?>DF4 

?D><76>4<FEO =4 E?5F<4?<7<D>64==>< ?D54?D<OF<<, 6 D5<>=F=OE 5>>E4E. 
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� >4G5EF65 74M<F=OE <5D>?D<OF<= ?D54GE<4FD<645FEO ??4=<D>6>4 

F5DD<F>D<<, GEFD>=EF6> >F<>EF>>, F5E=<G5E><5 <5D>?D<OF<O ?> <E>?NG5=<N 

GF5G5> 6>4O <7 >><<G=<>4F<=. 

�>E?5 7465DL5=<O EFD><F5?LEF64 =4 F5DD<F>D<< >5N5>F4 5G45F 

?D>6545=> ?>?=>5 5?47>GEFD>=EF6> 75<5?L=>7> GG4EF>4. 

2. $57G?<D>64=<5 >F6545=<O F5DD<F>D<< 4?O =>6>7> EFD><F5?LEF64 

6<?OE, ?D><OL?5==OE < E5?LE>>E>7O=EF65==OE >5N5>F>6, 4 F4>65 

E>7?4E>64=<5 <7<5=5=<= F5E=>?>7<= 45=EF6GNM<E ?D54?D<OF<=, 

E6O74==OE E ?>6OL5=<5< EF5?5=< >?4E=>EF< 747DO7=5=<O EF>G=O<< 

6>44<< <EF>G=<>4 6>4>E=4565=<O 

% GG5F>< G>474==OE 6 ?.1 ?D>5>F=OE <5D>?D<OF<= F5DD<F>D<O =>6>7> 

EFD><F5?LEF64 >5N5>F4 <E>?NG45F ?>6OL5=<5 EF5?5=< >?4E=>EF< 

747DO7=5=<O EF>G=O<< 6>44<< <EF>G=<>4 6>4>E=4565=<O. 

�4 F5DD<F>D<< ?D>5>F<DG5<>7> >5N5>F4 E>7O=EF65==4O 45OF5?L=>EFL, 

>D><5 >E=>6=>= 45OF5?L=>EF<, =5 ?D54GE<4FD<645FEO. 

3. �54>?GM5=<5 >F6545=<O EF>G=OE 6>4 6 7>=5 6>4>E5>D4 <EF>G=<>4 

6>4>E=4565=<O, 6>?NG4O 57> ?D<F>><, =5 >F65G4NM<E 7<7<5=<G5E><< 

FD55>64=<O< > >ED4=5 ?>65DE=>EF=OE 6>4 

�D54GE<4FD<645FEO =54>?GM5=<5 >F6545=<O EF>G=OE 6>4 6 7>=5 

6>4>E5>D4 <EF>G=<>4 6>4>E=4565=<O, 6>?NG4O 57> ?D<F>><, =5 >F65G4NM<E 

7<7<5=<G5E><< FD55>64=<O< > >ED4=5 ?>65DE=>EF=OE 6>4. 

4. �E5 D45>FO, 6 F>< G<E?5 4>5OG4 ?5E>4, 7D46<O, 4>==>G7?G5<F5?L=O5 6 ?D5-

45?4E 4>64F>D<< �%� 4>?GE>4NFEO ?> E>7?4E>64=<N E F5=FD>< 7>EG44DEF65=-

=>7> E4=<F4D=>-M?<45<<>?>7<G5E>>7> =447>D4 ?<LL ?D< >5>E=>64=<< 7<4D>?>7<-

G5E><<< D4EG5F4<< >FEGFEF6<O GEG4L5=<O >4G5EF64 6>4O 6 EF6>D5 6>4>74-

5>D4. 

$45>FO, 6 F>< G<E?5 4>5OG4 ?5E>4, 7D46<O, 4>==>G7?G5<F5?L=O5 6 

?D545?4E 4>64F>D<< �%� >FEGFEF6GNF. �FEGFEF6G5F >F6545=<5 EF>G=OE 6>4 6 

7>=5 6>4>E5>D4 <EF>G=<>4 6>4>E=4565=<O, 6>?NG4O 57> ?D<F>><. 
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5. �E?>?L7>64=<5 E<<<G5E><E <5F>4>6 5>DL5O E M6FD>D<>4F<5= 

6>4>5<>6 4>?GE>45FEO ?D< GE?>6<< ?D<<5=5=<O ?D5?4D4F>6, <<5NM<E 

?>?>6<F5?L=>5 E4=<F4D=>-M?<45<<>?>7<G5E>>5 74>?NG5=<5 

7>EG44DEF65==>= E4=<F4D=>-M?<45<<>?>7<G5E>>= E?G65O $>EE<=E>>= 

$545D4F<<. 

�E?>?L7>64=<5 E<<<G5E><E <5F>4>6 5>DL5O E M6FD>D<>4F<5= 6>4>5<>6 

=5 ?D54GE<>FD5=>. 

6. �D< =4?<G<< EG4>E>4EF64 =5>5E>4<<> >5>DG4>64=<5 EG4>6, 

4554D>445D>6 < 5D4=464EF GEFD>=EF64<< 4?O E5>D4 D4=>6OE < 

?>4E?4=56OE 6>4 < F65D4OE >FE>4>6; >5>DG4>64=<5 =4 ?D<EF4=OE 

E?<6=OE EF4=F<= < ?D<5<=<>>6 4?O E5>D4 F65D4OE >FE>4>6. 

�D<=44?56=>EFL >5N5>F4 > EG4>E>4EF6G >FEGFEF6G5F. 

7. �4?D5M5=<5 D47<5M5=<O E>?44>6 7>DNG5-E<47>G=OE <4F5D<4?>6, O4>E<<<-

>4F>6 < <<=5D4?L=OE G4>5D5=<=, =4>>?<F5?5= ?D><EF>>>6 L?4<>ED4=<?<M < 

4DG7<E >5N5>F>6, >5GE?46?<64NM<E >?4E=>EFL E<<<G5E>>7> 747DO7=5=<O ?>475<-

=OE 6>4. 

$47<5M5=<5 7>DNG5-E<47>G=OE <4F5D<4?>6, O4>E<<<>4F>6 < <<=5D4?L=OE 

G4>5D5=<=, =4>>?<F5?5= ?D><EF>>>6 L?4<>ED4=<?<M >FEGFEF6G5F. 

�. �5>E=>64=<5 ??4=<D>6>G=>= >D74=<74F<< 75<5?L=>7> GG4EF>4 6 

E>>F65FEF6<< E 7D44>EFD><F5?L=O< < F5E=<G5E><< D57?4<5=F4<< ?<5> 

4>>G<5=F4<< >5 <E?>?L7>64=<< 75<5?L=>7> GG4EF>4 (5E?< =4 75<5?L=O= 

GG4EF>> =5 D4E?D>EFD4=O5FEO 45=EF6<5 7D44>EFD><F5?L=>7> D57?4<5=F4 

<?< 6 >F=>L5=<< 57> =5 GEF4=46?<645FEO 7D44>EFD><F5?L=O= 

D57?4<5=F); 

%>7?4E=> �D46<? 75<?5?>?L7>64=<O < 74EFD>=>< 7>D>4E>>7> >>DG74 �D4E=>-

ODE>, GF65D645==OE �D4E=>ODE><< 7>D>4E><< %>65F>< 45?GF4F>6 >F 07.07.2015 
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7 �-122 «� ?D46<?4E 75<?5?>?L7>64=<O < 74EFD>=>< 7>D>4E>>7> >>DG74 �D4E-

=>ODE> < > ?D<7=4=<< GFD4F<6L<< E<?G >F45?L=OE D5L5=<= �D4E=>ODE>>7> 7>-

D>4E>>7> %>65F4 45?GF4F>6», 4 F4>65 GF65D645==O5 $5L5=<5< �D4E=>ODE>>7> 

7>D>4E>>7> %>65F4 45?GF4F>6 >F 17.03.2020 76-88 «� 6=5E5=<< <7<5=5=<= 6 D5-

L5=<5 �D4E=>ODE>>7> 7>D>4E>>7> %>65F4 45?GF4F>6 >F 07.07.2015 7 �-122 «� 

�D46<?4E 75<?5?>?L7>64=<O < 74EFD>=>< 7>D>4E>>7> >>DG74 7>D>4 �D4E=>ODE> < 

> ?D<7=4=<< GFD4F<6L<<< E<?G >F45?L=OE D5L5=<= �D4E=>ODE>>7> 7>D>4E>>7> 

%>65F4 45?GF4F>6»  GEF4=46?<64NF 7D44>EFD><F5?L=O= D57?4<5=F. 'G4EF>> ?D>-

5>F<D>64=<O D4E?>?>65= 6 F5DD<F>D<4?L=>= 7>=5 «�=>7>DG=>F<>=4?L=4O ?>4-

7>=4 «�$-1». 

 � >E=>6=O< 6<44< D47D5L5==>7> <E?>?L7>64=<O 75<5?L=>7> GG4EF>4 >F-

=>E<FEO <=>7>MF46=4O 6<?4O 74EFD>=>4, GF> =5 ?D>F<6>D5G<F D47<5M5=<N ?D>-

5>F<DG5<>7> >5N5>F4.  

�5<5?L=O= GG4EF>> G4EF<G=> D4E?>?>65= 6 7D4=<F4E 7>=O E >E>5O<< 

GE?>6<O<< <E?>?L7>64=<O F5DD<F>D<<: 

7>=5 D57G?<D>64=<O 74EFD>=>< < E>7O=EF65==>= 45OF5?L=>EF< >5N5>F>6 >G?L-

FGD=>7> =4E?54<O: D545D4?L=>7> 7=4G5=<O «�4D4G?L=4O 54L=O-G4E>6=O �4D4E-

>56O �OF=<FO», 1855 7., �4D4G?L=4O 7>D4/ G?. %F5?4=4 $47<=4, 514; D57<>=4?L-

=>7> 7=4G5=<O «�>< 6<?>= 45D56O==O=», ?5D64O G5F65DFL %% 65>4, G?. �5D5=-

E>=4,55 (44?55- 7>=4 $-13.2). 

�D545?L=O5 ?4D4<5FDO D47D5L5==>7> EFD><F5?LEF64 >5N5>F4 E>5?N45=O E>-

7?4E=> 45=EF6GNM<< 7D44>EFD><F5?L=O< D57?4<5=F4< 6 7D4=<F4E F5DD<F>D<-

4?L=>= 7>=O D57G?<D>64=<O 74EFD>=>< < E>7O=EF65==>= 45OF5?L=>EF< >5N5>F>6 

>G?LFGD=>7> =4E?54<O ($-13.2). �5>E=>64=<5 6 G4EF< E>5?N45=<O ?D545?L=OE 

?4D4<5FD>6 D47D5L5==>7> EFD><F5?LEF64 >5N5>F4 >4?<F4?L=>7> EFD><F5?LEF64 

44?55 E>7?4E=> ?. 5 7D44>EFD><F5?L=>7> ??4=4: 

4) >5N5>F ?D54EF46?O5F E>5>= EFD><F5?LEF6> <=>7>MF46=O= <=>7>>64DF<D=O= 

6<?>= 4>< 6OE>F>= =5 5>?55 35 <5FD>6. 
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5) D45>FO, ?D54GE<>FD5==O5 ?D>5>F><, =5 ?>?444NF 6 7D4=<FO F5DD<F>D<< 

>5N5>F>6 >G?LFGD=>7> =4E?54<O < =5 7D4=<G4F E F5DD<F>D<O<< >5N5>F>6 >G?L-

FGD=>7> =4E?54<O. $47<5DO, ?D>?>DF<< < ?4D4<5FDO >5N5>F4 E>?>4G<=5=O 

>>DG64NM<< >5N5>F4< 74EFD>=>< < >5N5>F4< >G?LFGD=>7> =4E?54<O. �D>5>F>< 

?D54GE<>FD5=> <E?>?L7>64=<5 M>>?>7<G5E>< G<EFOE ?D<D>4=OE =4FGD4?L=OE 

<4F5D<4?>6. &65F>6>5 D5L5=<5 >5N5>F4 74D<>=<DG5F E >>?>D<EF<G5E><< D5L5-

=<5< >>DG64NM5= ED54O, 6 >F45?>5 <E?>?L7>64=O =5=FD4?L=O5 ?D<D>4=O5 

F65F4. �OE>F=>EFL >5N5>F4 E>EF46?O5F <5=55 35 <5FD>6.  

6) D45>FO, ?D54GE<>FD5==O5 ?D>5>F><, =5 ?D<6>4OF > =4DGL5=<N 6<7G4?L-

=>7> 6>E?D<OF<O ?4<OF=<>>6, >7D4=<G5=<N <E >57>D4, =5 >>47O64NF GEG4L5=<O 

GE?>6<= 6>E?D<OF<O <EF>D<>>-7D44>EFD><F5?L=>= ED54O >5N5>F>6 >G?LFGD=>7> 

=4E?54<O;  

7) E>7O=EF65==4O 45OF5?L=>EFL =4 F5DD<F>D<< >5N5>F4 =5 >>47O645F =574F<6-

=>7> 6?<O=<O =4 E>ED4==>EFL >5N5>F>6 >G?LFGD=>7> =4E?54<O 6 <EF>D<>>-7D44>-

EFD><F5?L=>= < >G?LFGD=>= ED545;  

4) >5N5>F =5 >>47O645F =574F<6=>7> 6?<O=<O =4 >4G5EF6> >>DG64NM5= ED54O, 

=5>5E>4<<>7> 4?O >55E?5G5=<O E>ED4==>EF< >5N5>F>6 >G?LFGD=>7> =4E?54<O 6 

<EF>D<>> -7D44>EFD><F5?L=>= < >G?LFGD=>= ED545;  

5) ?D>5>F>< E>5?N45=O FD55>64=<O 6 >5?4EF< >ED4=O >>DG64NM5= ED54O, 

=5>5E>4<<OE 4?O >55E?5G5=<O E>ED4==>EF< >5N5>F>6 >G?LFGD=>7> =4E?54<O 6 

<EF>D<G5E>>< < ?4=4L4DF=>< >>DG65=<<, 4 F4>65 >ED4=O5<>7> ?D<D>4=>7> 

?4=4L4DF4;  

6) ?D>5>F>< =5 ?D54GE<>FD5=> =4?<G<5 D5>?4<=OE < <=D>D<4F<>==OE >>=-

EFDG>F<=;  

7) >5N5>F =5 E>744UF 4<=4<<G5E><E 6>745=EF6<=; 

 <) >5N5>F =5 >>47O645F =574F<6=>7> 6?<O=<O =4 E>ED4==>EFL 6E5E <EF>D<G5-

E>< F5==OE 7D44>D>D<<DGNM<E >5N5>F>6. 

�>D<4F<6=O5 4>>G<5=FO, =4 >E=>64=<< >>F>DOE 6O?>?=5= ?D>5>F: 



 

 

    16 
   

 

 

  

 

  

  

  

 
�

74
<

. 
�

=
6
. 

7
 

 

�
>

4
?

. 
<

 4
4
F4

 

 

�
=

6
. 

7
 

 

      

27�-2020-��'.&' 
�<EF 

      
11 

�7<. �>?.GG. �<EF 7 4>>. �>4?. �4F4 

 

- %� 42.13330.2016 «�D44>EFD><F5?LEF6>. �?4=<D>6>4 < 74EFD>=>4 7>D>4-

E><E < E5?LE><E ?>E5?5=<=. �>FG4?<7<D>64==4O D544>F<O %�<� 2.07.01-89*»; 

�4 GG4EF>5 ?D54GE<>FD5=> EFD><F5?LEF6> 6<?>7> 4><4, >>F>DO= E>EF><F <7 

4E >>D?GE>6 6<?OE 4><>6 < ?>475<=>= 46F>EF>O=><, 4 F4>65 5?47>GEFD>=EF6> 

?D<?574NM5= F5DD<F>D<< E GEFD>=EF6>< ??>M44>> < ?4D>>6>>. 

 

�D>5>F<DG5<O= 6<?>= 4>< D4E?>?>65= 6 F5=FD4?L=>= G4EF< GG4EF>4, >D<5=-

F<D>64= 6E>4=O<< 7DG??4<< =4 6>EF>G=GN EF>D>=G. �6>D>64O F5DD<F>D<O 

?D54GE<>FD5=4 =4 >D>6?5 ?4D>>6><.  

%E5<4 ??4=<D>6>G=>= >D74=<74F<< 75<5?L=>7> GG4EF>4 D47D45>F4=4 6 E>>F-

65FEF6<< E 45=EF6GNM<<< =>D<4<<, E E>5?N45=<5< ?D>F<6>?>64D=OE < E4=<-

F4D=OE D47DO6>6, >55E?5G5=4 >D74=<G5E>4O E6O7L E EGM5EF6GNM5= 74EFD>=>>=. 

 

�. &5E=<>>-M>>=><<G5E><5 ?>>474F5?< 75<5?L=>7> GG4EF>4, 

?D54EF46?5==>7> 4?O D47<5M5=<O >5N5>F4 >4?<F4?L=>7> EFD><F5?LEF64; 

 

&5E=<>>-M>>=><<G5E><5 ?>>474F5?< GG4EF>4 ?D54EF46?5=O 6 F45?. 4.1. 

 

&45?<F4 4.1 3 &5E=<>>-M>>=><<G5E><5 ?>>474F5?< GG4EF>4  

�4<<5=>64=<5 
�>>474F5?L, 

<2 % 

�?>M44L GG4EF>4 �'  8471  100 

�?>M44L 74EFD>=><, 6 F>< G<E?5: 5554,6  65,6 

- ??>M44L >F<>EF>> 177,0  

- ??>M44L <7D>6OE, E?>DF<6=OE ??>M44>>, 6>?NG4O 

FD46<>557>?4E=>5 ?>>DOF<5 6>>DG7 =<E 
731,7  

- ??>M44L >75?5=5=<O 1149,26*  

- ??>M44L FD>FG4D>6 806,1  

- ??>M44L ??>M44>> >F4OE4 (5DGEG.) 36,1  

-??>M44L ??>M44>> >F4OE4, <7D>6OE (4>-

M4F.=4EF<?) 
137,7  

�?>M44L ?D>574>6  1473,0 17,4 
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�?>M44L FD>FG4D>6  393,5 4,6 

�?>M44L >F<>EF>> 506,8 6,0 

�?>M44L >75?5=5==>= ?>?>EO E GG5F>< ?D>5744 ?>-

64D=>= <4L<=O 
39 0,5* 

�?>M44L >75?5=5=<O 504.1 5,9* 

* �5M4O ??>M44L >75?5=5=<O E>EF46?O5F 1692,36 <2. 

 

�>MDD<F<5=F <=F5=E<6=>EF<=1,89. 

�. �5>E=>64=<5 D5L5=<= ?> <=65=5D=>= ?>47>F>6>5 F5DD<F>D<<, 6 F>< 

G<E?5 D5L5=<= ?> <=65=5D=>= 74M<F5 F5DD<F>D<< < >5N5>F>6 

>4?<F4?L=>7> EFD><F5?LEF64 >F ?>E?54EF6<= >?4E=OE 75>?>7<G5E><E 

?D>F5EE>6, ?46>4>>6OE, ?>65DE=>EF=OE < 7DG=F>6OE 6>4; 

 

'G4EF>> ?D>5>F<D>64=<O =5 =4E>4<FEO 6 7>=5 74F>??5=<O, 65G=>= <5D7?>FO, 

?>MF><G E?5F<4?L=OE <5D>?D<OF<= ?> ?>47>F>6>5 F5DD<F>D<< ?D>6>4<FLEO =5 

5G45F. 

�4F57>D<O >?4E=>EF< ?D>F5EE>6 <>D>7=>7> ?GG5=<O E>7?4E=> %� 

115.13330.2016 F45?. 5.1 >F5=<64NFEO >4> >?4E=4O. 

�D< ?D><5D74=<< 7DG=F>6, E?>E>5=OE > <>D>7=><G ?GG5=<N, ?D><EE>4<F 

G65?<G5=<5 <E >5N5<4, ?D< >FF4<64=<< ?D><EE>4<F D47G??>F=5=<5 7DG=F>6, E>-

?D>6>644NM55EO >E44>>= < E=<65=<5< =5EGM5= E?>E>5=>EF<. �4?DO65=<O < 

45D>D<4F<<, 6>7=<>4NM<5 6 ?D>F5EE5 ?GG5=<O 7DG=F>6 >E=>64=<O, 6O7O64NF 

45D>D<4F<N < =4DGL4NF M>E??G4F4F<>==GN ?D<7>4=>EFL ?>475<=OE < =475<-

=OE >>=EFDG>F<= E>>DG65=<=, 6 E6O7< E G5< ?D54GE<>FD5=O <5D>?D<OF<O:  

- >55E?5G5=<5 >F6>44 ?<6=56OE EF>>>6 E ??>M44><; 

- GEFD>=EF6> 6>4>=5?D>=<F45<>= >F<>EF>< ?> ?5D<<5FDG 744=<O; 

- GEFD>=EF6> 4>D>6=OE >>=EFDG>F<= =5>5E>4<<>= F>?M<=O E>7?4E=> ��� 

218.046-01, <E>?NG4NM<= <>D>7=>7> ?GG5=<O < >55E?5G<64NM<E =5>5E>4<<O= 

GD>65=L D<?LFD4F<<. 
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�. �?<E4=<5 >D74=<74F<< D5?L5D4 65DF<>4?L=>= ??4=<D>6>>= 

 

 �5N5>F D4E?>?>65= 6 �5?57=>4>D>6=>< D4=>=5 7. �D4E=>ODE>4. %E5<4 65DF<-

>4?L=>= ??4=<D>6>< D47D45>F4=4 4?O 6OE>F=>= ?D<6O7>< ??4=<DG5<>= F5DD<F>-

D<< > D5?L5DG <5EF=>EF<. �D>5>F<DG5<4O F5DD<F>D<O �5N5>F4 ?56<F 6 ?D545?4E 

>F<5F>> 149,3-147,53 < �4?F<=E>>= E<EF5<O, F.5. ?5D5?44 6OE>F E>EF46?O5F 

1,77<. $5?L5D GG4EF>4 <<55F G>?>=O 6 6>EF>G=>< =4?D46?5=<<, 7=4G5=<5 5EF5-

EF65==OE G>?>=>6 <7<5=O5FEO >F 0,05% 4> 0,06%.  

�4 F5DD<F>D<< GG4EF>4 >.=. 24:50:0200075:672 ?>4 EFD><F5?LEF6> �5N5>F4 

<<5NFEO >4?<F4?L=O5 744=<O < <=65=5D=O5 E5F< ?>4?564M<5 E=>EG, E>7?4E=4 

D4745?4 ���.  

�5DF<>4?L=4O ??4=<D>6>4 D47D45>F4=4 =4 F>?>7D4D<G5E>>= EN5<>5 1:500, 

6O?>?=5==>= 6 2021 7.  

 �?4= >D74=<74F<< D5?L5D4 6O?>?=5= 6 G6O7>5 E >F<5F>4<< ?D<?574NM5= 

F5DD<F>D<< E >F6>4>< 4>6456OE < F4?OE 6>4. �F6>4 ?D><76>4<FEO ?> ?D>5>F<-

DG5<O< ?D>5744<, 6 ?>F>4E ?D>5765= G4EF<, 44?55 =4 G?. �45DG4>4. 

 �D74=<74F<O D5?L5D4 ?D54GE<4FD<645F E??>L=GN 65DF<>4?L=GN ??4=<-

D>6>G.      �F6>4 ?>65DE=>EF=OE 6>4 ?D54GE<>FD5= >F>DOFO< E?>E>5>< E >55E-

?5G5=<5< =>D<4?L=>7> EF>>4 >F 744=<O ?> E??4=<D>64==>= ?>65DE=>EF<. 

 % GG5F>< EGM5EF6GNM57> D5?L5D4 < >>DG64NM5= 74EFD>=>< ?D>4>?L=O= 

G>?>= ?> ?D>5744< ?D<=OF 5-20 0, GF> >55E?5G<645F ?>65DE=>EF=O= 6>4>>F6>4 

E F5DD<F>D<<. 

 �?O >55E?5G5=<O 55754DL5D=>7> 46<65=<O <4?><>5<?L=OE 7DG?? =4E5?5-

=<O  6 <5EF4E ?5D5E5G5=<O FD>FG4D>6 E ?D>5744<<, 5>DF>6>= >4<5=L  GEF4=46?<-

645FEO  ??4L<O 6OE>F>= 0.5E<, 4 ?D>4>?L=O5 G>?>=O FD>FG4D>6 < 4>D>65> ?D<-

=OFO 6 ?D>5>F5 4> 400. 

 �4 >F=>E<F5?L=GN >F<5F>G ±0,000 ?D<=OF4 >F<5F>4 G<EF>7> ?>?4 6<?>7> 

4><4, E5>F<< 4, GF> E>>F65FEF6G5F 45E>?NF=>= >F<5F>5 +148,50. 
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 �4>?L ?D>5744 6 7D4=<F4E ?D><76>4EF64 D45>F GEF4=>6?5= 5>DF>6>= 55-

F>==O= >4<5=L �$100.30.15 ?> ��%& 6665-91. �4>?L FD>FG4D>6, ??>M44>>, >F-

<>EF>< < 747>=>6 6 7D4=<F4E ?D><76>4EF64 D45>F GEF4=>6?5= 5>DF>6>= 55F>=-

=O= >4<5=L �$100.20.8 ?> ��%& 6665-91. 

 �>=EFDG>F<< 4>D>6=OE >4564 ?D<6545=O =4 ?<EF5 ��'-10. 

 �>=EFDG>F<O 4>D>6=>= >4564O ?D>5765= G4EF< ?D<=OF4 <EE>4O <7 E?54G-

NM<E ?>>474F5?5=: FD4=E?>DF=>- M>E??G4F4F<>==OE FD55>64=<=, >4F57>D<<  

4>D>7< E GG5F>< <=F5=E<6=>EF< 46<65=<O < E>EF464 FD4=E?>DF=OE  

ED54EF6, 4 F4>65 FD55>64=<=, ?D54NO6?O5<OE > 4>D>6=>= >45645 6 >F=>L5=<< 

?D>G=>EF<, 4>?7>65G=>EF< < <>D>7>GEF>=G<6>EF<.  

 �<=<<4?L=O= G>?>= ?> >F654U==><G GG4EF>G 50. 

 �>?5D5G=O5 ?D>D<?< ?D>574>6 ?D<=OFO 7>D>4E>>7> F<?4 >4=>E>4F=O<< E ?>-

6OL5==O<< 5>DF>6O<< >4<=O<<. 

 �?O E>744=<O >?F<<4?L=OE G>?>=>6 G4EF<G=> ?D54GE<>FD5=4 ?>4EO?>4 < 

ED57>4 ??>M44<. �5N5< 75<?O=OE <4EE ?D54EF46?5= =4EO?LN < 6O5<>>=. 

�. �?<E4=<5 D5L5=<= ?> 5?47>GEFD>=EF6G F5DD<F>D<< 

 $4EG5F ??>M44>> ?D><7654U= E>7?4E=> ?. 7.5 %� 42.13330.2016, ?. 2.7 

(E6>4=4O F45?<F4) �5EF=OE =>D<4F<6>6 7D44>EFD><F5?L=>7> ?D>5>F<D>64=<O 

7>D>44 �D4E=>ODE>4 �D4E=>ODE>>7> >D4O <EE>4O <7 >5M57> >>?<G5EF64 6<F5?5= 

285 G5?>65> ?D< =>D<5 6<?<M=>= >55E?5G5==>EF< 30,0 <2 =4 G5?>65>4.  

&45?<F4 7.1 

�4<<5=>64=<5 &D55G5<>5 =>D<4F<6=>5, <2 

(E>7?4E=> ���� 7. �D4E=>-

ODE>4 �D4E=>ODE>>7> >D4O) 

�>?<G5EF6> ?> ?D>5>FG, <2 

�5FE><5 <7D>6O5 ??>M44>< 

(?D< =>D<5 0,7 <2 =4 G5?>65>4)* 

=5 <5=55 30<.>6. 

199,5 201,7 

�?>M44>< 4?O >F4OE4 67D>E-

?>7> =4E5?5=<O (?D< =>D<5 0,1 

<2 =4 G5?>65>4)* =5 <5=55 15 

<.>6. 

28,5 123,8 

�?>M44>< 4?O 74=OF<= D<7>G?L-

FGD>= (?D< =>D<5 2,0 <2 =4 G5?>-

65>4)*  =5 <5=55 100 <.>6. 

570,0 580,0 
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�?>M44>< 4?O E>7. F5?5= (?D< 

=>D<5 0,15 <2 =4 G5?>65>4)* =5 

<5=55 10 <.>6. 

42,8 45,0 

�?>M44L >75?5=5=<O, =5 <5=55 

3 <2 =4 G5?>65>4 
855,0 1692,36 

�?>M44>< 4?O EF>O=>< 46F><4-

L<= = =4 >4=G >4DF<DG 1 <4L<-

=><5EF>, =4 F5DD<F>D<< GG4EF>4 

=5 <5=55 40% >F ?>FD55=>EF< 

(E>7?4E=> ���� ?.3.3.1).  � 

?D>5>F5 288 >64DF<D. 

115 <4L<=><5EF 4?O 6<?LO 

(6 F>< G<E?5 6 ���, E>-

7?4E=> %� 59.13330.2020 

?.5.2.1), 19 4?O 6EFD>5==OE 

?><5M5=<= (6 F>< G<E?5 1 

���) =134 

135<4L<=><5EF 6E57>  

(105 6 ?>475<=>= 46F>EF>-

O=>5), 

6 F>< G<E?5 7 ��� 

 

�D>5>F<D>64=<5 6545FEO 6 G6O7>5 E EGM5EF6GNM<< D5?L5D><. � 7D4=<F4E 

GG4EF>4 ?D>5>F<D>64=<O ?D54GE<>FD5=O ?>64D=O5 ?D>574O, 5?47>GEFD>=EF6> 

(>75?5=5=<5, ??>M44>< 4?O >F4OE4 =4E5?5=<O, 45FE>4O ??>M44>4, E?>DF<6=4O 

??>M44>4, GEF4=>6>4 E>6D5<5==OE <4?OE 4DE<F5>FGD=OE D>D<). �4D>>6>< D4E-

?>?>65=O 6 ?>475<=>= 46F>EF>O=>5 6 >>?<G5EF65 105 <4L<=><5EF. �5M55 >>-

?<G5EF6> ?D54GE<>FD5==OE ?D>5>F>< ?4D>>6>G=OE <5EF E>EF46?O5F 135, 6 F>< 

G<E?5 7 ���. 

$4EG5F FD55G5<>7> >>?<G5EF64 46F><>5<?5= 4?O 6<F5?5= ?D><76545= E>-

7?4E=> �5EF=OE =>D<4F<6>6 7D44>EFD><F5?L=>7> ?D>5>F<D>64=<O 7>D>44 �D4E-

=>ODE>4 �D4E=>ODE>>7> >D4O. %>7?4E=> ?.3.3.1 ���� 4?O 288 >64DF<D ?D<=<-

<45< 1 <4L<=><5EF>, <7 =<E 40% ?D<=<<45< > D47<5M5=<N =4 75<5?L=>< 

GG4EF>5, E>7?4E=> ?.3.3.2 ����, GF> E>EF46?O5F 115 <4L<=><5EF. %>7?4E=> ?. 

5.2.1 %� 59.13330.2020 =4 >F>DOFOE <=4<6<4G4?L=OE 46F>EF>O=>4E E?54G5F 6O-

45?OFL =5 <5=55 10 % <5EF (=> =5 <5=55 >4=>7> <5EF4) 4?O FD4=E?>DF4 <=64?<-

4>6 (���), 6 F>< G<E?5 5% E?5F<4?<7<D>64==OE <5EF (D47<5D>< 3,6E6,0 <) 4?O 

FD4=E?>DF4 <=64?<4>6 =4 >D5E?5->>?OE>5. �>?<G5EF6> FD55G5<OE ?4D>>6>G=OE 

<5EF 4?O ��� E>EF46<F:  

(115E10)/100=11,5j12 <4L<=><5EF, <7 =<E 6 <4L<=><5EF 4>?6=> 5OFL 4?O 

FD4=E?>DF4 <=64?<4>6 =4 >D5E?5->>?OE>5. 

$4EG5F ?4D>>6>G=OE <5EF 4?O 6EFD>5==OE ?><5M5=<= E>7?4E=> ���� ?. 

3.1.7: 
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-?G=>F 6O44G< E?5F<4?<7<D>64==OE =5?D>4>6>?LEF65==OE <=F5D=5F-F>64-

D>6 46,63 +63,15+ 40,48 +59,31=209,57>6.<.. �5 <5=55 1 </<5EF4 =4 50 >6.<. >5-

M5= ??>M44<. $4EG5F 209,57/50=4,19. �D<=<<45< 4 </<. 

- 4?F5G=O= ><>E> 59,31+81,99=141,3>6.<. �5 <5=55 1 </<5EF4 =4 50 >6.<. 

>5M5= ??>M44<. $4EG5F: 141,3/50=2,83. �D<=<<45< 3 </<. 

- 5<?LOD4=O= >?G5 121,49 >6.<., 3 54<=>6D5<5==OE ?>E5F<F5?O. �5 <5=55 1 

</< =4 3 54<=>6D5<5==OE ?>E5F<F5?O. �D<=<<45< 1 </<. 

- <=F5D=5F >?G5 119,86 >6.<., 29 ?>EF>O==OE <5EF. �5 <5=55 1 </< =4 6 ?>-

EF>O==OE <5EF. $4EG5F: 29/6=4,8. �D<=<<45< 5 </<. 

- 6OEF46>G=O= 74? 208,32+105,2 >6.<., 5 54<=>6D5<5==OE ?>E5F<F5?5=.  �5 

<5=55 1 </< =4 6 54<=>6D5<5==OE ?>E5F<F5?5=. $4EG5F 5/6=0,8. �D<=<<45< 1 

</<. 

- ?G=>F ?D<5<4 < 6O44G< ?D4G5G=>=-E<<G<EF>< 141,94+141,94>6.<., 2 G5?>-

65>4. �5 <5=55 1 </< =4 1 D45>G55 <5EF> ?D<5<M<>4. �D<=<<45< 2 </<. 

- 74?5D5O E>6D5<5==>7> <E>GEEF64 207,52 +105,2 >6.<., 5 54<=>6D5<5==OE 

?>E5F<F5?5=.  �5 <5=55 1 </< =4 6 54<=>6D5<5==OE ?>E5F<F5?5=. $4EG5F 5/6=0,8. 

�D<=<<45< 1 </<. 

- E?5F<4?<7<D>64==4O 5<5?<>F5>4 103,31 >6.<., 10 ?>EF>O==OE <5EF. �5 <5-

=55 1 </< =4 6 ?>EF>O==OE <5EF. $4EG5F 10/6=1,7. �D<=<<45< 2 </<. 

�F>7>, >5M55 FD55G5<>5 >>?<G5EF6> ?4D>>6>G=OE <5EF 4?O 6EFD>5==OE ?>-

<5M5=<= E>EF46?O5F 4+3+1+5+1+2+1+2=19 </ <5EF. 

� F>< G<E?5 4?O ���: (19E10)/100=1,9j2<4L<=><5EF4, <7 =<E 1 <4L<=>-

<5EF> 4>?6=> 5OFL 4?O FD4=E?>DF4 <=64?<4>6 =4 >D5E?5->>?OE>5. 

�>D>6=4O >45644 ?D>574>6 ?D<=OF4 E 4ED4?LF>55F>==O< ?>>DOF<5<. �D>-

5>F<DG5<>5 >75?5=5=<5 E>EF46?O5F 21,4% >F F5DD<F>D<< GG4EF>4.  

 

&5DD<F>D<O >75?5=O5FEO 747>=>< >5O>=>65==O<. �D54GE<>FD5=O ?>E44>< 

45>>D4F<6=OE < ??>4>6OE 45D56L56 < >GEF4D=<>>6 (E?<D5O E5D4O, >?5= �<==4?4, 

45D5= 55?O=).  
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�4 F5DD<F>D<< 6<?>7> 4><4 ?D54GE<>FD5=4 ??>M44>4 4?O <GE>D>E5>D=<-

>>6 4?O D4745?L=>7> =4>>??5=<O &�� =4 4 >>=F5==5D4. 

�. �>=<D>64=<5 F5DD<F>D<< 75<5?L=>7> GG4EF>4, 

?D54>EF46?5==>7> 4?O D47<5M5=<O >5N5>F4 >4?<F4?L=>7> 

EFD><F5?LEF64, >5>E=>64=<5 DG=>F<>=4?L=>7> =47=4G5=<O < 

?D<=F<?<4?L=>= EE5<O D47<5M5=<O 7>=, >5>E=>64=<5 D47<5M5=<O 

744=<= < E>>DG65=<= (>E=>6=>7>, 6E?><>74F5?L=>7>, ?>4E>5=>7>, 

E>?44E>>7> < >5E?G6<64NM57> =47=4G5=<O) >5N5>F>6 >4?<F4?L=>7> 

EFD><F5?LEF64 - 4?O >5N5>F>6 ?D><76>4EF65==>7> =47=4G5=<O 

$4745? =5 D47D454FO645FEO, F.>. >5N5>F =5?D><76>4EF65==>7> =47=4G5=<O. 

�. �5>E=>64=<5 EE5< FD4=E?>DF=OE >><<G=<>4F<=, 

>55E?5G<64NM<E 6=5L=<5 < 6=GFD5==<5 (6 F>< G<E?5 <56F5E>6O5) 

7DG7>?5D56>7><, - 4?O >5N5>F>6 ?D><76>4EF65==>7> =47=4G5=<O; 

$4745? =5 D47D454FO645FEO, F.>. >5N5>F =5?D><76>4EF65==>7> =47=4G5=<O. 

�. %4D4>F5D<EF<>4 < F5E=<G5E><5 ?>>474F5?< FD4=E?>DF=OE 

>><<G=<>4F<= (?D< =4?<G<< F4><E >><<G=<>4F<=) 3 4?O >5N5>F>6 

?D><76>4EF65==>7> =47=4G5=<O; 

$4745? =5 D47D454FO645FEO, F.>. >5N5>F =5?D><76>4EF65==>7> 

=47=4G5=<O. 
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�. �5>E=>64=<5 EE5< FD4=E?>DF=OE >><<G=<>4F<=, 

>55E?5G<64NM<E 6=5L=<= < 6=GFD5==<= ?>4N574 > >5N5>FG 

>4?<F4?L=>7> EFD><F5?LEF64, - 4?O >5N5>F>6 =5?D><76>4EF65==>7> 

=47=4G5=<O; 

�>4N574 > 6<?><G 4><G  >EGM5EF6?O5FEO E 6>EF>G=>= EF>D>=O GG4EF>4 E G?. 

�45DG4>4 ?D>5>F<DG5<O5 ?>4N574O > 744=<N E?G64F ?>64D=O< ?D>5744<<, L<-

D<=4 >>F>DOE E>>F65FEF6G5F ?>64D=O< =>D<4<, E>7?4E=> ?.8.6 %� 4.13130.2013 

E>EF46?O5FEO =5 < <5=55 4,2 <5FD4 - ?D< 6OE>F5 744=<O >F 13,0 <5FD>6 4> 46,0 

<5FD>6 6>?NG<F5?L=>. 
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$4EG5F ?<6=56OE EF>>>6 

�45DG4>4_�DE=>ODE> (�>EF>G=4O %<5<DL) 
 

<2 

�?>M44L 6>4>>F6545=<O F, 

�4 

1,195

33 

 
11953

,3 

�?>M44L >D>6?<, 4ED4?LF F1, 

�4 

0,908

06 

 
9080,

6 

�?>M44L 5DGEG4F><, FD>FG4D4 F2, 

�4 

0,148

67 

 
1486,

7 

�?>M44L 747>=4 F3, 

�4 

0,138

6 

 
1386 

<=F5=E<6=>EFL 6 F5G5=<< 20 

<<= 

q20 67 
  

�5D<>4 >4=>>D4F=>7> ?D56O-

L5=<O 

P 1 
  

�>>474F5?L EF5?5=< n 0,6 
  

%D54=55 >>?<G5EF6> 4>645= 

74 7>4 

mr 90 
  

�>>474F5?L EF5?5=< y 1,54 
  

�>MDD<F<5=F ?>>D>64 ED54-

=<= 

Zmi

d 

0,26 
  

�>MDD<F<5=F ?>>D>64 

>D>6?<, 4ED4?LF 

Z1 0,3 
  

�>MDD<F<5=F ?>>D>64 5DGE-

G4F><, FD>FG4DO 

Z2 0,224 
  

�>MDD<F<5=F ?>>D>64 747>= Z3 0,038 
  

�=F5=E<6=>EFL 4>64O � 404,3 
  

$4EG5F=4O ?D>4>?6<F5?L-

=>EFL 4>64O 

tr 6 
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�D5<O ?>65DE=>EF=>= >>=-

F5=FD4F<< 

tco

n 

5 
  

�D5<O ?D>F5>4=<O ?> >4=4?G tcan 0 
  

�D5<O ?D>F5>4=< ?> FDG55 tp 1 
  

�?<==4 >4=4?4 lcan 0 
  

E>>D>EFL 6 >4=4?5 vca

n 

4 
  

�?<==4 FDG5O lp 100 
  

%>>D>EFL 6 FDG55 vp 2,85 
  

$4EE>4 4>6456OE EF>>>6, ?/E Q 137 
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